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For each question from 1 o 30, four options are given. One of them is the correct answer.

Make your choice (1,2, 3 or 4). Shade the comrect oval (1,2,3 or 4) on the Optical Answer
Sheet. ‘

1. The properties of materials A, B, C and D are given in the table shown below.

Naterials Allows Tight 6 [ Canducts | Canba Can be
pass through | electricity repelled by a | attracted by a
: ' magnet magnet
A ¥ v y
B N ¥
C. v N
D - ¥
Which one of the following materials will be suitable for making the needle of a
compass?
( A
(2 B
3 ¢C
4 D
2 Which one of the following is a characteristic of both land and Aaquatic plants?

(1) All of them bear flowers.

(2) Al of them grow-towards sunfight.
(3)  All of them store food in their roots.
(4) Al of them use leaves to make food.

3 The diagram below shows the life cycle of a plant.

f. seed W
adult seedling

~_

~ Which one of the following statements is definitely true about the plant?

(1) ltwill growinto a tree.

(2) ltisa fiowering plant.

(3)  The seeds are dispersed by animals.

{(4) it can be grown from other parts of the piant




4 Which of the following is made up of a single cefi?

(1)
)
(3)
(4)

A asperm ‘
B - anovary

C apolien grain

D anunfertilised egg

B8 and C only
A and D only
A, C and D only
B, C and D only

5 Fammer Cai wants to grow fruit trees from plant parts instead of growing them from
seeds.

What is the advantage of growing fruit trees from plant parts instead of from seeds?

(1)  The fruit will be sweeter than the parent plant.
(2)  The fruit will have smaller seeds than the parent plant.
(3)  The fruit will have the same quality as the parent plant.
(4)  The fruit will take a shorter time to ripen than the parent plant.
6 A coloured hquid s poured into a communicating vessel which has a stopper

covering the opening of the middie funnel.

Which one of the diagrams shows how the liquid would have settled in the
- communication vessel 7
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7 Beaker X contained some chilli
contents were heated until it bo
Beaker X. The droplets that form
Y as shown in the diagram.

powder, sait and water, all mixed tegether. The
fled. An alumwnium fray was then placed above
ed on the aluminium tray were collected in Beaker

Wr.at would be the taste of the liquid in Beaker Y ?

Aluminium tray

Beakar X - =4 ‘
Sh T doo e dropiet
-~ ;
Water with chilli powder —T1-_—_—_ ‘ ,
and salt A (
jf' ? il‘ ¢ ———— Beaker ¥
| “ ki &
e ;
] \3 S
(1) Itwould be salty.
(2) it would be spicy
{3) It would be tasteless.

(4)

8

it would be spicy and saity.

The diagram below shows the positions of two towns, P and S, fronv two different

countries |

It is about 12 noon on 15 Au
Town P?

("
@
(3
{4)

North

A

Sun

A

A

gust 2006 in Town S. What time and date will it be* in

About 6:00 am on 15 August 2006

About midnight on 15 August 2006
About 6:00 pm on 16 August 20086.
About midnight on 16 August 200€.




9 John noticed a crescent moon on 3™July. He watched the moon on 4 nights and
recorded the changes in the phases of the moon in the table below.

187 July

39 July o July 0% July

Which one of the following phases of the moon would he have seen on 18% July ?

&)] 2 3 (4)

10 The diagram below shows the bones and muscles involved when a man touches his
shoulder.

i g

sl

IR

Triceps

Joint X

Which one of the following correctly shows the joint and the reactions of the muscles
when the above action takes place?

Joint X Biceps Triceps
N Hinge Contracts ‘Relaxes
(2} Hinge Relaxes Contracis
{3) Ball and Socket Contracts Relaxes
(4) Ball and Socket Relaxes Contracts




11.In an experiment shown below, Samy took two similar plants, Plant A and Plant B,
) He then cut 1cm deep around the stem of Plant B before placing both Plantsin a
beaker of red-coloured water. After sometime, he found out that the leaves of Plant
A turned reddish in colour but nothing happened to the leaves of Plant B.

Plant A Plant B
J <~

Cross section of the stem

red-coloured
water

Study the cross-section of the stem which shows the different tubes.

What can you conclude from Samy's experiment ?

A The tubes led from the roots to the leaves.

B Tubes G helped to transport water to the other parts of the plants.

C Tubes H helped to transport water to the other parts of the plants,

(1) Bonly

(2) A and B only
{3) A and C only
(4) B and C only




12 The diagram below shows how the circulatory, digestive and respiratory systems in our

body work together.
Digestive
System
digested food
Y
Respiratory Y P @Mﬂg&n and food! - All body

arts
System Q \sqitey* 2 P

Which one of the following correctly shows the gases represented by P, Q and R?

P Q R
N carbon dioxide oxygen carbon dioxide
{2) carbon dioxide carbon dioxide oxygen
3) oxygen carbon dioxide carbon dioxide
(4 oxygen carbon dioxide oxygen

i3 The diagrams below shows the exchange of gases during respiration and
photosynthesis.

Which one of the following diagrams shows correctly the exchange of gases
between living things and its surroundings during daylight?

Movement of gases Movement of gases
during respiration T during photosynthesis

) carbon (2) carbon
.- \_dioxide \ / dioxide

plants animals plants animals
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14 The children below are making some statements on the process of fespiration.

cells.

Kelly

Kumar

Respiration is a
process of breaking
down food in living

Glucose and water
are released during
the respiration.

During respiration,
energy and carbon °
dioxide are being
released.

Caili

During respiration,
energy is being
sfored.

\ Rizal

Who have made incorrect statements about respiration?

(1)  Kelly and Rizal

(2)  Caili and Kumar
(3) Kumar and Rizal
(4) °  Kelly and Kumar

15 - How many different complete food chains are there in the food web below?

Al—»

N7

n 2
2 3
3 4
4 5

/

N\
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16 * Which of the following structural adaptations enable camels to live in hot deserts?

A fong eyelashes to block out sand

B hump to store water .-

C large ears to remove excess body heat .

D large padded feet so that it will not sink into the sand

M A and D only
{2) 8 and C only
{3) B and D only
(4) A, Cand D only

17 Which of the followings are not forms of telecommunication?

A conversation by string phones
B intermet

C sms by phones

D drawings

m A and D only
(2) B and D only
(3 A, B and C only
4 A, C and D only

18  The diagram below shows what happens when 2 objects, X and Y, being placed
very close to each other on a piece of paper laced with iron filings.

iron ﬁllings

Which one of the following statements is/are definitely true?

A object X is a magnet
B object X is made of copper
C object Y is made of non-magnetic material
b object Y is made of magnetic material
M A only

{2 A and C only
{3 B and C oniy
(4) A, B and D anly



19 Which one of the following sim
greater distance than the load?

(1) wheelbarrow

2 broom

(3) row-boat

{4) flag pole

ple machines requires the effort applied to move a

A



20

15 cn]
‘o \ |
3 3

Setup A Setup B

The diagram above shows setups A and B. The load in each setup is being pulled
up 1o the top of the indlined plane of the same surface.

Which one of the following statements about the inclined plane system is false?

{n The amount of effort used is the same for both setups A and B.

{2) The higher the load is moved up the inclined plane, the more heat is
generated between the surfaces in contact,

{3) The load in setup B gains more gravitational potential energy at the top
of the inclined plane than the load in setup A.

(4) More effort is used to pull the load in setup A than in setup B if they are
to reach the top of the inclined plane at the same time

21 Balls A, B, C and D which are of the same size but made of different materials are
balanced on 3 different levers as shown below.

A

C
& @ @
/AN AN A

Arrange the balls according fo their weights in an ascending order if all the levers
above are balanced.

(1) B,A D, C .
(2) B,AC.D
(3) D.AB.C
(4) D,C A B

10 ”



S ST R M AR AUVHUWITY e Gs aD0U forces is true?

A Forces can change the mass of objects.

B Forces can change the position of objects.
C Forces can change the direction of moving objects.
D Forces can change the shapes of objects _

(1) Aand B only
(2 B and C only
(3) A, B and C oniy
{4) 8, C and D only

23 Jude wanted to find out if the size of surface area in contact with the table affects the
amount of friction generated between them. He performed the experiment with
apparatus as shown in setup A and setup B, keeping all other variables the same.

Setup A

block of wood " spring balance

| // —C {H}{ O

Setup B

block of wood

— (3
\

spring balance

The table below shows the amount of effort used to move the blocks in both setups.

17 attempt (N) |2™ attempt (N) | 3° attempt (N) | Average (N}
Setup A 0.42 0.43 0.43 0.427
Setup B 0.42 0.42 ~ 043 0.423

What conclusion can he make from his resuits?

{1 A smaller surface area in contact with the table produced a larger
amount of friction.

(2) A smaller surface area in contact with the table produced a smaller
amount of friction.

(3) The size of surface area in contact with the table did not affect the
amount of friction generated

(4) The size of surface area in contact with the table affected the amount of
friction generated randomly.

(L




The table below shows the characteristics of mangoes produced by four trees.

Tree A Tree B Tree C Tree D
'small seeds _big seeds ~_small seeds big seeds -
. Sour sour sweet sweet

juicy not juicy not puicy juicy

Wlf)ich 2 trees when cross-pollinated will most likely produce sweet mangoes?

(M TreesAandC
(2) Trees Aand D
3 TreesBand C
@ Trees Cand D

The graphs below were plotted using a datalogger to show the amount of light from
the same light source passing through three different materials.

Light
TF00
SO0
Amount so0] | Material A
offight . | -
{lux) . Material B
200] /V
2004 it |
150 / Material C
o - A/n
9 20 40 43 Time

Which one of the following is most likely to be Material A, B and C?

Material A Material B Maf‘:erial C
&) cardboard tracing paper glass
2) paper clear piastic ceramic
3) clear plastic frosted glass clay
{4) ceramic wood tissue paper

1%



26 Inthe experiment below, when the flask was immersed in hot water, the drop of ink

in the tube dropped slightly first before it rose.

a drop of ink

I~ hot water
— flask

What could have caused the ink fo drop first before rising?

(1)  The airin the flask expanded first foliowed by the flask.
{2)  The flask expanded first followed by the air in the flask.
(3)  The airin the flask expanded first followed by the water.
(4)  The water expanded first followed by the airin the flask,

27 1In the circuit below, where will you put the switch so that only one bulb will fight up

when the switch is opened?

! B1 f
i GP _ ®BZ é? B3
v

o T3]

M
2)
)
(4)

ooo>




28.  Henry dug a hole in his garden and placed an open jar init as shown above. He left
the jar overnight and checked the jar the next moming. He found three animals in
the jar . :

wood

clear plastic jar —*

Which of the following animals would Henry have found in the jar?

A ant

B8 aphid

C-  millipede
D cricket

(1) A BandConly
(2) B,CandDonly
(3) A BandDonly
4) A, CandDonly -

29 In an expenment, a group of pupils wanted to find out whether chilli or tornato seeds
would grow into seedlings faster. They put an equal number of chilli or tomato seeds
in each pot A, B, C and D and watered them daily with equal amount of water.

They recorded what they did in the table below.

Pot Type of seed Type of soil Place where potwas
kept
A chifli sand in the sunlight
B chilli garden soil in the sunlight
C fomato garden soil in the sunlight
D tomato garden soil in the shade

Based on the table, which 2 pots should the pupils compare in order to ensure a fair
test? -

(1) A and C only
(2) A and D only
(3) B and C only
4 B and D only

K]



30 Peter kept a record of the nu

mber of births and deaths of the fish in his aquarium at
the end of each month. His

observations are shown in the following table.

August There were no births and no deaths.
September Rate of birth > rate of death.

October Rate of birth < rate of death.

November There were no births but a few fish died,

Which one of the following graphs correctly shows Peter's observations?

b
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PART 2 (49 marks)
Write your answers to questions 31 to 46 in the spaces given.

31, Study the flowchart below.

Has outer No segnglted No | i3 ?
Animal » coverings? . body? ¥S eggs?
Ye
Yes A
Is Wam- No | Gives birthto | No . Has fins?
blooded? young alive?
Yes 7 Yes
& |
Yes g ¢

Give birth to No , D

young alive?

Yes
E

(a) Based on the flow chart above, state two physical features of animal Ci2]

@)

(i)

(b}  Which letter, A, B, €, D or E is most likely to represent a mammal that lays
eggs 7 {1}




32

The classification chart above describes how livin

Living things

[ |

X Y Z
Eaf plants, Able to Break down
animals or make ifs dead
both plants own food organism
and animals into simple

substances

living things does each of the letter represent? 2]

33

X

Y

z

- The alphabets below represent organisms in a food web.

g things obtain their food. What group of

(a) Draw the arrows to show the food relationship based on the information givenin

the table [1]

Organism
E feedson Gand H
F is eaten by G
G feedson H
H feeds on F
E
F

{b) Which organism is likely o be a plant ?

{c) W hich organism is likely to be an omnivore ?

{1]

]

18

A



34

-

repulsion ‘_ N S

floor

Two strong identical magnets are mounted on two styrofoam blocks as shown above. The

north-pole of each magnet is facin
blocks away from each other.

g each other such that the force of repulsion pushes the

On the same diagram, draw 2 arrows in the boxes provided to indicate the direction of
frictional force that the floor exerts on both blocks. [2]

35

The diagram below shows what happens when 3 rings, A, B and C are slotted
through a metal rod. The rings made of different materials.

[

C
B

///—/Metal rod

A | Wooden base

I

Put a tick in the correct box for each statement. [21

Statements

True pFalse | Not possible to tell

Object Bis a magnet

Object A is a magnet

OC‘&

Object C is made of magnetic material

d)

Object B is made of aluminium




screen Set-up B | screen

A cylinder is arranged in two different ways in front of a light source to cast two different
shadows on the screen.

(a) How is the shadow formed in set-up A different from that formed in set-up B? {1]

(b} Give a reason to your answer in (a). [1]

{c) Now study set-up C where a cone has been arranged to form a shadow on the screen.

Draw accurately in the box provided, the shadow formed in setup C. {1]

20



fo ) pe map below shows the location of factories A, B and C by the river.

ltis suspected that these factories discharge mercury waste into the river, and water
samples have been collected from 5 focations of the river (P, Q, R, Sand T) for
analysis. Results obtained are plotied in the graph below.

b
Average
amount of
mercury
per 100 ml
of water
5 Iocétions of
P Q R S T the river
a) Suggest the safest location for fishing. Why? [1}

b} Based on the map and graph above, which factory A, B or C was the least
likely to discharge mercury waste into the river? 1]

c Explain your answer in part(b). , (1}




38

Fillin the blanks with appropriate words. [2)

Burning rubbish

produce‘s/ \Eoduccs

smoke l (@
lcauscs lcauses
{b) Global warming
39 Before Bulb B is added After Bulb B is added
! !
@Bulb B
Bulb A Bulb A
a) What will happen to the brightness of Bulb A if an identical Bulb B is added to the
circuit as shown above?[1]
b} Draw another circuit diagram in the space below showing another way in which

Bulb B can be added #o Buib A A1

4 22

23



40. The pictures below (not drawn to scale

} show a red snapper and a dolphin. Compare them to show their
similarity and differences.

\

red snapper doiphin

How similar is the structural adaptation for ffe in the water ? (1m)

Red snapper Dalphin

How different with regards fo

thod of breathing [1]

How different with regards to

<+ Body covering__J1]




41

(a)

(b)

(c)

Mr Li carried out an experiment with cockroaches and 3 different brands of
insecticide X, Y and Z.

a) He sprayed on equal amount of insecticide into 3 similar tanks, one for each
brand of insecticide.

b} Next he put a batch of 20 adult cockroaches ‘into each of the tanks.

¢) Then, he covered the tanks for an hour.

d) Atthe end of the hour, he counted the number of cockroaches that were stili
alive.

e) He removed all the 20 cockroaches from the first batch.

f) He repeated steps (b) to () with two other batches of cockroaches.

The table below shows the number of cockroaches alive at the end of each hour

Tank with Number of cockroaches still alive after
Insecticide First 1 hour Next 1 hour Final 1 hour
1stbatch 20 batch 3 baich
X 0 0 14
I
Y 0 0 12
Z 0 2} 15
What was Mr Li trying to find out from his eyeriment’? 1}

Why did he have to wait for an hour before countin.g the cockroaches that
were still alive? (1]

Based on Mr Li's experiment, which brand of insecticide wouid you buy if you have
cockroaches in your home? Explain why. 1]

24



42

(a)

®)

(©

Mosquitoes are harmful animals that spread diseases to Man. The best way to get
nd of them is to get rid of any stagnant water.

nife Cycle of a Mosquito

A A gfj:—"-f—
s’!g\‘gumzmw

ye ]

Based on the diagram above, explain how getting nd of staanant water prevent
mosquitoes from breeding. [1] )

Kim Seng found some young of a mosquito in a cavity on the tree trunk of his
favourite mango tree.

Suggest a practical method that Kim Seng could use to get rid of the young of the
mosquito without cutting down the tree. {1]

Explain how the ‘method which you have suggested in (b) helps to p‘févent /"
mosgquito from.breeding. 1] e

25




43  The melting and boiling points of four different substances are shown below.

Substances " Temperature at Temperature at
which it melts which it boils
w 0°C 100°C
X - 27°C 677°C
Y 38°C 688°C
Z 112°C 444°C

What will be the state of each of the substances at 105°C ? Put a tick () in the
fable below. [2]

Substances Solid state Liquid state | Gasegus State
w

X
Y
Z

44 Dave wanted to find out how the temperature of water affects the rate at which a
sugar cube dissolved. He then set up his experiment as shown in the table below.

Beakers - No.of sugar | Temperature Amount of

cube of water water

A 1 ' 40°C 300 ml

B8 1 80°C 300 ml

C 2 40°C 300 m

D 2 80°C 300 ml

{a) .vhat should he measure in order in-erder to seéi;how the temperature of

water affects the rate at which sugar cubes dissalve? 1

{b) Which beakers should Dave compare? [17

(cy  What shouid Dave do to ensure that the results of his experiment are
reliable? {1

/I r-u. Y&



45. ook atthe diagram below. A stone has been placed at the top of the slope.

P stone

slope -

///////'////_

(a) Drawin the graph below to show the comrect change in gravitational potential energy
and kinetic eniergy of the stone as it rolls down the siope to the floor [1]

gravitadonal
potential energy

" kinetic energy

{b)  Ifthe stone is left to roll on slopes of different heights, draw in the graph below to
show the relationship between the position of the stone at different heights and

the amount of gravitationat poténtial énergy the stone has. [1]
;@ F 3
& B
o
“E S
+ % v
‘b -
R X
< gAY
& r\g‘ts\\\' of Ob_,(d
~ E oravitationa)
~potertialerergy -




Human Being l Plant

*« Hasan organ(heart) * Does not have an organ
* Has blood vessels s Has small tubes.
* L]
-_— —_—
N

Complete the table by adding another difference that Betty would have written in the
Science journal [2] .

. 28
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1 1 11 3 21 2
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3 2 13 4 23 3
4 3 14 3 24 4
5 3 15 2 25 3
6 1 16 1 26 2
7 3 17 1 27 2
8 2 18 2 28 4
9 3 19 1 29 3
10 1 20 4 .30 1
SECTION B (40 MARKS)
Qn No. | Answers
31a (i) | Animal C has outer coverings
(i) | Animal C has fins
31b D
EZ | X = Animals Y = Plants, Z = Decomposers J
33a }
F E
\ / e G
H
33b F
| 33¢ G
34
I I
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Answers

Not possible to tell

‘—?611 The shadow formed in set-up A would be bigger than the shadow in set-up B. |
36b The cylinder in set-up A is placed pearer to the light source than in set-up B,
thus the shadow formed in set-up A is bigger
36¢
37a Location T. It has the least average amount of mercury per 100ml of water |
compound to the rest.
37b Factory C
37¢ All other tested parts after factories A and B showed higher mercury content
| than before.
38a Carbon dioxide ]
38b Air pollution

39a No change in brightness / still as bright as before

39b ‘ !7___1

LS

Bulb A Bulb B

40 They both have fins

Red Snapper : Gills, Scales

| J_Dolphin . Scales, Hairs

frage 2 0f3



Qn No. | Answers
41a He was trying ' insecticide can kill the most cockroaches

He had to wait for the effect of the insecticide to take place.
4lc l I would buy insecticide Y. It Killed the most number of cockroaches among
. the insecticides in the same amount of time.
‘72:1 As mosquitoes breed in stagnant water, they will not be able to survive in fresh |
water if all the stagnant water has been gotten rid of.
42b Pour oil on the surface of the cavity.
42c B filling the cavity with materials that do not allow water to collect will
prevent mosquitoes from breeding.

r43a | W = Gaseous State X = Liquid States Y = Liquid State 7 = Solid State J

44a He should measure the time taken for the cube fo dissolve.
44b Dave should compare beakers A and B, beaker C with D
| 44¢ Repeat the experiments a few times and take an advantage.
45a A
Gravitational

Potential cnergy

Y

Kinetic energy

45b
A
Amount of .
Gravitational
Potential energy
. Hcight of object
L —
46a Human Being  :  Has a two-way circulatory system. B
Plant . Has a one-way circulatory systcm.
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